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1. The group S, is the set of all possible permutations that can be performed on the four

numbers 1, 2, 3 and 4, under the operation of composition.
For the group S,

(@) write down the identity element,

(b) write down the inverse of the element a, where

1 234

313421

(c) demonstrate that the operation of composition is associative using the
following elements

1234b 1 234 q 1 234
= = ndc=
@ 3421 2431 anac 4123

(d) Explain why it is possible for the group S, to have a subgroup of order 4
You do not need to find such a subgroup.

1)

1)

(2)

2)
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2. Matrix M is given by

<

1

|
S W =
—_— o O
Q = Q

where a and b are integers, such that a < b

Given that the characteristic equation for M is
AT+ 130+¢c=0

where c is a constant,

(@) determine the values of a, b and c.

(5)

(b) Hence, using the Cayley—Hamilton theorem, determine the matrix M™

3)
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Question 2 continued

P 6 5 5 0 6 A0 6 3 2

PMT!

LSRR
KRS,
LRI,
SRR
G,

boteres e8
AL0088
0000:

prosevasiies
SSSITHLS
s

B
o
S5

e
SSERES
S
b2,

fg
Sl S
GRS
oNTets
PO o 1598

Podezexc
0%«

KPP

PLe

o9,

< IR X
5

K
QIR <
D00 %
1959 4,0

5
SR8

RS
SRKK

ULRIK



PMT

4 )

<

R
RSB
000

6
Sototelel
otetete?
S
IR

25

RRKAKARA KN

Question 2 continued

0%

IR
X
K
29

%%
KR

<
QL

0
SRS
=

S,
RS
s
K&K
00K

%

o%

4
KL
odeseteteted

R

%

ot
255
8

O O
s
X XXX

S
2K
X

X

K5
55
CKKS

<535
S
Sogoteseset
totetetets

¢
X
5
L5

QO
I
A0S
PN RRLK
LKL
Sotetee

SR
otetes

KD
SSEIGEIRK

S
poteteselotets?
<

o &)

%
35

S Al
‘0

£
1

XA
GBS

2R
bl
XA

0%

svavy
-

XA

R
AT AR
JBY

0%
£
{
Q

5
o
»
X
<X

QR
>
oo

P
)

o209
¥
CTERE
RS

GRS
%
%
KRRKAKARRAKARARA AR

QI

OG0
2
58
%

5
SRBKE
IR

IR

2%
XS
g%
‘0”‘::

<5

%
¢S
2K

6K
230500030
Sodetetetele!
2L
258

KRS
RXR
B!
LK

K

<
o

<
%
25
e
5
&5

<
o008
S5

KL

55
el

&
5

SR
%

5

2o

8
XL

008
bo%e!
RN
A
R
P00

£

<
58
%
500
S
oSote%

OO %

020!

GO
RIS
XKL

RRERK
fotetetotets
KX

(Total for Question 2 is 8 marks)

0K

0992

SHERES

CSRRKAL
CRRX
CREALRXKL
ORARRARKAKA

K

O

%

28
55
95

%
0%
o%
X2
%
<

7

R N RO R0 0 —
Turn over »
P 6 5 5 06 A0 7 3 2 urnove



Figure 1

There are three lily pads on a pond. A frog hops repeatedly from one lily pad to another.
The frog starts on lily pad A, as shown in Figure 1.

In a model, the frog hops from its position on one lily pad to either of the other two lily
pads with equal probability.

Let p, be the probability that the frog is on lily pad A after n hops.

(@) Explain, with reference to the model, why p, =0
The probability p, satisfies the recurrence relation

1
pnﬂ:E(l—pn) n>1 wherep,=0

(b) Prove by induction that, for n > 1
_2( 1y 1
Pn= 3

(c) Use the result in part (b) to explain why, in the long term, the probability that the

frog is on lily pad A is %

1)

(6)

1)
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Question 3 continued
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4. (@) Use the Euclidean algorithm to show that 124 and 17 are relatively prime (coprime).

)

(b) Hence solve the equation

124x + 17y =10
@)

X QQT; :
oY%
205

(c) Solve the congruence equation

124x = 6 mod 17
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5. The locus of points z satisfies

|z+ai|=3|z-a]|
where a is an integer.

The locus is a circle with its centre in the third quadrant and radius %\/5
Determine

(@) the value of a,

(b) the coordinates of the centre of the circle.

(4)

()

Question 5 continued
\_
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6. (a) Determine the general solution of the recurrence relation
Upy=2U,;—Uy,+2" n>2
(4)

(b) Hence solve this recurrence relation given that u, = 2u, and u, = 3u,

(2)
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7. (i) The polynomial F(x) is a quartic such that
FX) = px*+gx*+ 2x*+rx +s
where p, g, r and s are distinct constants.
Determine the number of possible quartics given that
(a) the constants p, g, r and s belong to the set {-4, -2, 1, 3, 5}
(1)
(b) the constants p, g, r and s belong to the set {-4,-2,0, 1, 3, 5}
(1)
(if) A 3-digit positive integer N = abc has the following properties
* Nisdivisible by 11
» the sum of the digits of N is even
* N=8mod9
(@) Use the first two properties to show that
a-b+c=0
)
(b) Hence determine all possible integers N, showing all your working
and reasoning.
(4)
.
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The locus of points z = x + iy that satisfy

is an arc of a circle C.

(@) On an Argand diagram sketch the locus of z.

(b) Explain why the centre of C has x coordinate 5

(c) Determine the radius of C.

(d) Determine the y coordinate of the centre of C.

(2)

1)

()

)
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a

2
I = sin” 2x dx
0

(@) Prove that for n > 2

(b) Hence determine the exact value of

T

2
64sin® xcos® x dx

0

(4)

3)
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10.

YA C

Figure 2 Figure 3

Figure 2 shows a picture of a plant pot.
The plant pot has

e aflat circular base of radius 10cm
e aheight of 15cm

Figure 3 shows a sketch of the curve C with parametric equations
x=10+15t-5t° y=15t> 0<t<1

The curved inner surface of the plant pot is modelled by the surface of revolution
formed by rotating curve C through 2= radians about the y-axis.

(a) Show that, according to the model, the area of the curved inner surface of the plant
pot is given by

1

15071'.[ (2+3t+ 22 + 26 - 15) dt
0

(b) Determine, according to the model, the total area of the inner surface of the
plant pot.

Each plant pot will be painted with one coat of paint, both inside and outside.
The paint in one tin will cover an area of 12m?®

(c) Use the answer to part (b) to estimate how many plant pots can be painted using
one tin of paint.

(d) Give a reason why the model might not give an accurate answer to part (c).
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Question 10 continued

(Total for Question 10 is 12 marks)
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